
 مهند القرم 1

 الفيزياء - العاشرالصف 
 الامتحان النهائي

116 N

1.6 m s-2

3580 kgsin 53 = 0.8 2

cos 53 = 0.6

52000 kg

3.5



 مهند القرم 2

 الفيزياء - العاشرالصف 
 الامتحان النهائي

414

33

30.08 N 193 g

800 kg m-3



 مهند القرم 3

 الفيزياء - العاشرالصف 
 الامتحان النهائي

653

5 L

5

3 m7 m



 مهند القرم 4

 الفيزياء - العاشرالصف 
 الامتحان النهائي

8

88 m s-1450 m21.029 kg m-3

90.3 s

150 s

1350 cm

11A

A



 مهند القرم 5

 الفيزياء - العاشرالصف 
 الامتحان النهائي



 مهند القرم 6

 الفيزياء - العاشرالصف 
 الامتحان النهائي



 مهند القرم 7

 الفيزياء - العاشرالصف 
 الامتحان النهائي



 مهند القرم 8

 الفيزياء - العاشرالصف 
 الامتحان النهائي




